.     Venn Diagram Formula    .
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In Union of A 
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Is either A or B or both (At least one)

    P(A 
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B) = P(A) + P(B) – P(A 
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Formula given in the exam – learn how to use it. 
Told 3 ‘terms’, find the 4th
1)    P(Rain) = 0.4   
       P(Mtb crash) = 0.5  
P(crash in rain) = 0.2
Find the probability of Mtb crash and/or rain
2) P(Late) = 0.2   P(Late and Withdrawn) = 0.1       P(neither happening) = 0.6    

Find the probability of being Withdrawn.

3)  A driver calls at a service station.  The probability of needing petrol is 0.65 the probability needing air is 0.18 and the probability of needing both is 0.08



P(at least one) = 
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